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Logic Puzzles
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Puzzle ID: 1161DT

Spanish Gypsy For hints, solutions and more puzzles, go to
www.Printable-Puzzles.com!

Falling Star

Lunatico

Turandot
Adrian Points Women Men Songs
Eduardo 26.3
26.6
Frank
26.9
lvan 27.2
Jeff 27.5

1. Of Debra's pair and the pair that skated to Lunatico, one finished with 27.5 points and the other finished with 27.2
points..

2. The pair that scored 26.9 points didn't include Frank..
3. The pair that scored 27.5 points didn't skate to Spanish Gypsy..

4. The five pairs were Frank's pair, the pair that scored 27.5 points, the team that scored 27.2 points, Ana's pair and the
team that scored 26.3 points..

5. Eduardo's pair scored somewhat lower than Kelly's pair..

6. Adrian's pair was either Heidi's pair or the pair that scored 26.9 points..

7. Ana's pair scored somewhat lower than the team that skated to Spanish Gypsy..

8. Of Kelly's pair and Ivan's pair, one finished with 26.9 points and the other skated to Turandot..

9. Of the pair that scored 26.3 points and Jeff's pair, one included Debra and the other skated to Falling Star..
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